Q [m3¥/s]

Pegel Nanzdietschweller
Ereignis75, HQ 4

50 20 N-Summe: 47,15 mm
Scheitelabfluss: 29 md¥s
40 + T16
=
30 1+ 112 E Q Ereignisbeginn: 4,57 m3/s
§ Ereignisdauer: 132 std.
= Abflussbeiwert: 45 %
20 8 c
A \ g N-Dauer: 42  std.
10 4 % max. N-intensitat: 8,2 mm/h
i ‘ ~— mittl. N-intensitat: 1,12 mm/h
0 wd 1 1 1 —Lo Verzégerungszeit: 11  Std.
19.2.02 20202 212,02 22202 23202 24202 25202 Vorfeuchte: hoch
Wetterlage: 39

Niederschlagsverteilung

EZi5 Nanzdietschiweiler

L]
GeR3sser

A
E-J mnir)

unker 39,60
39,6 -40,5
40,5-41,4
41,4 -42,3
42,3 -43,2
43,2 -144,1
44,1 - 45,0
45,0 - 45,9
45,9 - 46,8
46,8 - 47,7
47,7 -48,6
45,6 - 49,5
49,5 - 50,4
s0,4-51,3
51,3-52,2
L2,2-53,1
23,1 -54,0
=4,0-54,9
=4,9-55,8
o25,8-56,7
dber 56,70




